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Find the total area of the angle triangle in square units

Find the total area of the trap

Find the total area of the paralleiogram ins

Find the total area of the circlein square units
(correct to1 decimal place)
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Find the total area of the shaded area in square units
(correct to1 decimal place)
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(correct to1 decimal place)

c
orrect to 1 Z’;i?e" areajn
ma

I p|ace)3quare units

1f you draw & straight line from opposite corners of any rectangle, you create @
right triangle (actually you create 2 equal right triangles). The ared of one of the
resulting right triangle is therefore exactly half that of the area of & rectangle that
you started with. Since the area of & rectangle is base X height the ared of a right
triangle is therefore half of that:

Area ofa triangle = %i

You can either multiple the two numbers (5 & 2 in this example) and then half
that total, or you can half one of the tWo pumbers and then multiply it by the
other.
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height applies:
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Split
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ere we have 3 rectanglés. The one on the tefi is 2x2, ectangle and 2 gram into 4
middle is 2x4 and the one on the right is 216, Simply add all three right-angle iria, equal sized
together: | j angles at the ends

Arca=(2x2)* (2x4) + (2x6)
Arca=4+ g+12
Area =24
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The shaded area here consists of a parallelogram but
occupied by the circle removed.
re to calculate ihe area of the fip th
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Area=32- 4n
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Area:ﬂ.x4x5

Area =g x 25 x 16

Area = 4005

Area = 12566

Area=1x20.x 50
Arca = “JOOJI
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Area =Nmrx 30x 55
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Area = 10367.3
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